X E 18 KR (FER) BRI BKA
e FRAIH H FEYE 4H 5H 6H | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H
1| — s 10084 F 0 0 1 0 0 0 0 0 0 0 0 1
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F
4|7k R 0.000584 F
5|1 0.01LLF
6|40 0.01B4F
=3 0.01LLF
8| A 27 2 2 0.0584 F
o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004
10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 1050 F 1.3 1.6 1.3 1.0
12|73 0.8L4F 0.08
IRIVES IR
14| HsEAb pR SR 0.00284F
151, 4— A%V 0.0554F
16 ;;;1/ 2TVTEE A apT
IVPZa=1=3.% 5% 0.0201F
I Al Za=1= 5= 2 2 0.01LLF
19|N)ZanzFL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF <0.06 <0.06 <0.06 <0.06
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF <0.006 <0.006 <0.006 <0.006
247 vk 0.0384F <0.003 <0.003 <0.003 <0.003
25V 7 R TOAR 0.1 <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 <0.01 <0.01 <0.01 <0.01
28|~V 7 R 0.0384 F <0.003 <0.003 <0.003 <0.003
29| 7 BEYym AL 0.038LF <0.003 <0.003 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 6.1 58| 59| 7.1 6.5| 6.1| 6.2 54| 5.1| 5.3 4.4| 5.6
39 | it 2 30081 F 35
40| ZF 7% 50084 F 81
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T <0.3 <0.3| <0.3| <0.3 <0.3 0.7 08 0.4] 04| 06 0.5 0.4
47|pH 5.8~8.6 7.2 7.4 7.4 7.3 74| 7.4 74 74| 73| 7.4 72| 7.3
50| (8 5LLT <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
518 2LLF 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




PR E2F KR (dLER) BRI BKA
e FRAIH H FEYE 4H 5H 6H | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H
1| — s 10084 F 0 0 0 0 1 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F
4|7k R 0.000584 F
5|1 0.01LLF
6|40 0.01B4F
=3 0.01LLF
8| A 27 2 2 0.0584 F
o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004
10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 1050 F 1.3 1.3 1.1 1.2
12|73 0.8L4F 0.09
IRIVES IR
14| HsEAb pR SR 0.00284F
151, 4— A%V 0.0554F
16 ;;;1/ 2TVTEE A apT
IVPZa=1=3.% 5% 0.0201F
I Al Za=1= 5= 2 2 0.01LLF
19|N)ZanzFL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF 0.34 0.36 0.38 <0.06
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF <0.006 <0.006 <0.006 <0.006
247 vk 0.0384F <0.003 <0.003 <0.003 <0.003
25V 7 R TOAR 0.1 <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 <0.01 <0.01 <0.01 <0.01
28|~V 7 R 0.0384 F <0.003 <0.003 <0.003 <0.003
29| 7 BEYym AL 0.038LF <0.003 <0.003 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 8.7 8.7 83| 9.1 76| 7.5 7.2 73] 7.1l 77 5.8 8.2
39 | it 2 30081 F 34
40| ZF 7% 50084 F 81
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T <0.3 <0.3| <0.3| <0.3 <0.3 0.8/ 08 0.4 03| 0.5 0.4 0.4
47|pH 5.8~8.6 7.0 7.0l 7.0 6.8 6.8] 6.7 6.8 7.0 7.0 7.1 73] 7.0
50| (8 5LLT <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
518 2LLF 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




[N & BRI BKA
e FRAIH H FEYE 4H 5H 6H | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H

1| — s 10084 F 0 0 0 0 0 0 0 0 4 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F

4|7k R 0.000584 F

5|1 0.01LLF

6|40 0.01B4F

=3 0.01LLF

8| A 27 2 2 0.0584 F

o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004

10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001

1 gg%f%%ﬁ&nmﬁ 1050 F 0.4 0.4 0.5 0.5
12|73 0.8L4F 0.16

IRIVES IR

14| HsEAb pR SR 0.00284F

151, 4— A%V 0.0554F

16 ;;;1/ 2TVTEE A apT

IVPZa=1=3.% 5% 0.0201F

I Al Za=1= 5= 2 2 0.01LLF

19|N)ZanzFL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF <0.06 <0.06 0.07 <0.06
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF <0.006 <0.006 <0.006 <0.006
247 vk 0.0384F <0.003 <0.003 <0.003 <0.003
25V 7 R TOAR 0.1 <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 <0.01 0.01 <0.01 <0.01
28|~V 7 R 0.0384 F <0.003 <0.003 <0.003 <0.003
29| 7 BEYym AL 0.038LF <0.003 0.004 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 4.9 5.0/ 5.1 4.7 3.9 4.0 45 3.8] 3.9 4.0 4.1 4.2
39 | it 2 30081 F 13
40| ZF 7% 50084 F 49
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T <0.3 <0.3| <0.3| <0.3 <0.3 0.9 08 0.4] 05| 0.5 0.4| 05
47|pH 5.8~8.6 7.1 72| 73] 7.2 72| 71l 7.2 71| 7.1l 7.2 71| 7.1
50| (8 5LLT 1.5 2.1 1.7 1.3 1.0l o8| 0.8 1.4 1.4 09 22| 2.8
518 2LLF 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




FEKR BRI BKA
e FRAIH H FEYE 4H 5H 6H | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H
1| — s 10084 F 0 0 0 0 2 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F
4|7k R 0.000584 F
5|1 0.01LLF
6|40 0.01B4F
=3 0.01LLF
8| A 27 2 2 0.0584 F
o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004
10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 1050 F 0.8 0.6 0.7 0.6
12|73 0.8L4F 0.11
IRIVES IR
14| HsEAb pR SR 0.00284F
151, 4— A%V 0.0554F
16 ;;;1/ 2TVTEE A apT
IVPZa=1=3.% 5% 0.0201F
I Al Za=1= 5= 2 2 0.01LLF
19|N)ZanzFL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF <0.06 <0.06 <0.06 <0.06
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF <0.006 <0.006 <0.006 <0.006
247 vk 0.0384F <0.003 <0.003 <0.003 <0.003
25V 7 R TOAR 0.1 <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 <0.01 <0.01 <0.01 <0.01
28|~V 7 R 0.0384 F <0.003 <0.003 <0.003 <0.003
29| 7 BEYym AL 0.038LF <0.003 <0.003 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 5.3 5.0/ 4.9 5.2 3.7 3.7 4.0 3.5 35| 3.6 3.8 4.2
39 | it 2 30081 F 16
40| ZF 7% 50084 F 55
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T <0.3 <0.3| <0.3| <0.3 <0.3 0.8/ 08 0.4] 05| 0.5 0.4| 05
47|pH 5.8~8.6 6.8 6.8 6.7 6.7 6.6|] 6.6 6.8 6.7 6.7 6.8 6.8 6.8
50| (8 5LLT <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
518 2LLF 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




KREKZR BRI BKA
e FRAIH H FEYE 4A 5H 6H | 74 8A 94 [10A | 11H |12A | 1A 2H 3H
1| —MAm B 10084 F 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F
4|7k R 0.000584 F
5|ELy 0.01LLF
6|40 0.01B4F
=3 0.01LLF
8| A 27 2 2 0.0584 F
o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004
10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 1050 F 0.6 0.6 0.6 0.6
12|73 0.8LLF <0.08
IRIVES 1LLF
14| UG PR SR 0.00284F
151, 4— A%V 0.0554F
16 ;;;1/ 2TVTEE A apT
IVPZa=1=3.% 5% 0.0201F
I Al Za=1= 5= 2 2 0.01LLF
19|’/ FL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF 0.11 0.09 0.08 <0.06
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF <0.006 <0.006 <0.006 <0.006
247 vk 0.0384F <0.003 <0.003 <0.003 <0.003
25V 7 R TOAR 0.1 F <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 F <0.01 <0.01 <0.01 <0.01
28|~V 7 R 0.0384 F <0.003 <0.003 <0.003 <0.003
29| 7 BEYym AL 0.038LF <0.003 <0.003 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 4.7 4.2] 45| 4.0 3.5 35| 4.0 35| 3.7 3.9 3.8 3.9
39 | it 2 30081 F 17
40| ZF 7% 50084 F 58
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T <0.3 <0.3| <0.3| <0.3 <0.3 0.9 08 0.3 04| 0.6 0.4| 05
47|pH 5.8~8.6 7.1 71| 7.1 7.0 6.9] 6.9 7.0 7.0 7.0 7.2 71| 7.1
50| (8 5LLT <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
518 28T 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




EIREKR BRI BKA
e FRAIH H FEYE 4H 5H 6H | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H
1| — s 10084 F 0 1 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F
4|7k R 0.000584 F
5|1 0.01LLF
6|40 0.01B4F
=3 0.01LLF
8| A 27 2 2 0.0584 F
o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004
10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 1050 F 1.2 1.3 1.3 1.2
12|73 0.8L4F 0.09
IRIVES IR
14| HsEAb pR SR 0.00284F
151, 4— A%V 0.0554F
16 ;;;1/ 2TVTEE A apT
IVPZa=1=3.% 5% 0.0201F
I Al Za=1= 5= 2 2 0.01LLF
19|N)ZanzFL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF 0.07 0.06 <0.06 0.16
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF <0.006 <0.006 <0.006 <0.006
247 vk 0.0384F <0.003 <0.003 <0.003 <0.003
25V 7 R TOAR 0.1 <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 <0.01 <0.01 <0.01 <0.01
28|~V 7 R 0.0384 F <0.003 <0.003 <0.003 <0.003
29| 7 BEYym AL 0.038LF <0.003 <0.003 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 5.8 51| 6.3] 6.1 48] 44| 4.9 45| 41| 4.4 8.2 4.5
39 | it 2 30081 F 28
40| ZF 7% 50084 F 76
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T <0.3 <0.3| <0.3| <0.3 <0.3 0.8/ 08 0.4] 05| 0.6 0.5 05
47|pH 5.8~8.6 7.1 72| 72| 7.2 72| 72| 7.3 72| 73] 7.2 7.0 7.1
50| (8 5LLT <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
518 2LLF 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




WEBKR BRI BKA
e FRAIH H FEYE 4A 5H 6H | 74 8A 94 [10A | 11H |12A | 1A 2H 3H
1| — s 10084 F 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F
4|7k R 0.000584 F
5|1 0.01LLF
6|40 0.01B4F
=3 0.01LLF
8| A 27 2 2 0.0584 F
o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004
10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 1050 F 0.3 0.4 0.3 0.2
12|73 0.8LLF <0.08
IRIVES 1LLF
14| UG PR SR 0.00284F
151, 4— A%V 0.0554F
16 ;;;1/ 2TVTEE A apT
IVPZa=1=3.% 5% 0.0201F
I Al Za=1= 5= 2 2 0.01LLF
19|’/ FL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF <0.06 0.11 0.12 <0.06
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF 0.008 0.026 0.011 0.010
247 vk 0.0384F 0.007 <0.003 0.007 0.005
25V 7 R TOAR 0.1 F <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 0.01 0.03 0.01 0.01
28|~V 7 R 0.0384 F 0.012 0.014 0.012 0.011
29| 7 BEYym AL 0.038LF <0.003 0.005 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 2.5 2.3 26| 25 2.6] 29| 3.1 2.7 29| 28 2.5 2.6
39 | it 2 30081 F 8
40| ZF 7% 50084 F 32
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T 0.4 0.5 06| 0.8 0.7] 1.3 1.1 0.7 06| 1.1 0.8] 0.9
47|pH 5.8~8.6 7.1 71| 72| 7.2 71| 7.1 7.3 72| 7.1l 7.2 71| 7.2
50| (8 5LLT 0.7 0.9] 0.7 1.6 1.5 1.0 0.8 0.8] 08| 1.1 0.8] 1.1
518 28T 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




FIREIK R BRI BKA
e FRAIH H FEYE 4H 5H 6H | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H
1| — s 10084 F 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F
4|7k R 0.000584 F
5|1 0.01LLF
6|40 0.01B4F
=3 0.01LLF
8| A 27 2 2 0.0584 F
o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004
10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 1050 F 1.1 1.3 1.2 0.8
12|73 0.8L4F 0.11
IRIVES IR
14| HsEAb pR SR 0.00284F
151, 4— A%V 0.0554F
16 ;;;1/ 2TVTEE A apT
IVPZa=1=3.% 5% 0.0201F
I Al Za=1= 5= 2 2 0.01LLF
19|N)ZanzFL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF <0.06 <0.06 <0.06 <0.06
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF <0.006 <0.006 <0.006 <0.006
247 vk 0.0384F <0.003 <0.003 <0.003 <0.003
25V 7 R TOAR 0.1 <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 <0.01 <0.01 <0.01 <0.01
28|~V 7 R 0.0384 F <0.003 <0.003 <0.003 <0.003
29| 7 BEYym AL 0.038LF <0.003 0.003 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 3.9 3.5 4.9 4.3 3.5 35| 3.9 3.5 4.0 4 3.9 3.6
39 | it 2 30081 F 42
40| ZF 7% 50084 F 91
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T <0.3 <0.3| 04| 0.3 0.3] 1.0 0.9 0.6] 05| 0.7 0.5 05
47|pH 5.8~8.6 7.2 7.3 7.4 7.2 72| 72| 7.3 74| 72| 7.3 72| 7.2
50| (8 5LLT <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
518 2LLF 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




WL F B K R BRI BKA
e FRAIH H FEYE 4A 5H 6H | 74 8A 94 [10A | 11H |12A | 1A 2H 3H
1| —MAm B 10084 F 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3| BRIV A 0.00321 F
4|7k R 0.000584 F
5|ELy 0.01LLF
6|40 0.01B4F
=3 0.01LLF
8| A 27 2 2 0.0584 F
o|HiAHATE = F 0.0421F <0.004 <0.004 <0.004 <0.004
10l 7y 0.0104LF <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 1050 F 1.5 15 1.8 11
12|73 0.8LLF <0.08
IRIVES 1LLF
14| UG PR SR 0.00284F
151, 4— A%V 0.0554F
16 ;;;1/ 2TVTEE A apT
IVPZa=1=3.% 5% 0.0201F
I Al Za=1= 5= 2 2 0.01LLF
19|’/ FL 0.01L4F
20~ B 0.01B4F
21 |HE s 0.6LLF <0.06 <0.06 <0.06 <0.06
22| v FEfER 0.0284F <0.002 <0.002 <0.002 <0.002
23| 7aaRL A 0.065LF <0.006 <0.006 <0.006 <0.006
247 vk 0.0384F <0.003 <0.003 <0.003 <0.003
25V 7 R TOAR 0.1 F <0.01 <0.01 <0.01 <0.01
26 | 5Kk 0.01B4F <0.001 <0.001 <0.001 <0.001
2T [FaNI RS 0.1 F <0.01 0.01 <0.01 <0.01
28|~V 7 R 0.0384 F <0.003 <0.003 <0.003 <0.003
29| 7 BEYym AL 0.038LF <0.003 0.003 <0.003 <0.003
30| 7 2EAL A 0.0954 F <0.009 <0.009 <0.009 <0.009
31|ANL LT VTR 0.088L F <0.008 <0.008 <0.008 <0.008
32| Hgh 1T
33| 7 L3= A 0.201F <0.02
34|k 0.3LLF
354 18 F
36| 7RI A 20084 F
37|~ At 0.058L F
38|t kA4 20084 F 5.7 50/ 6.2 6.3 5.0 53| 4.7 57| 41| 4.9 4.6 4.6
39 | it 2 30081 F 34
40| ZF 7% 50084 F 83
41| BEA A ST MEA 0.2LLF
a2|v=t 23 . 0'003‘;1 <0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44| FEA L SIS A 0.0251F
45|77 = ) —NJE 0.0058 F
46| HHED) 3T <0.3 0.4| 04| 0.3 0.3] 09| 08 05| 04| 0.8 0.4 0.7
47|pH 5.8~8.6 7.3 7.4 7.4 7.3 74| 7.4 74 75| 7.3 7.3 73] 7.3
50| (8 5LLT 0.7 0.9] 08| 0.5 0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| 0.6
518 28T 0.2 <0.2| <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2| <0.2 0.2 <0.2

KRR kXS4t HER




	①中区第１配水　R1
	②中区第２配水　R1
	③山寄上　R1
	④轟　R1
	⑤大袋　R1
	⑥豊部　R1
	⑦棚岩　R1
	⑧赤坂　R1
	⑨柳山寺　R1

